T2-L6-X5-S0-R0O

T2-L6-X5-S0-R2

T2-L6-X5-S0-xROyR1P

100

80

500

r 400
60 :— 300
40 :— ‘ & ’ 200
20 [ / 100
0, C L L L L 1 L 1 1 1 0
0 20 | 40 B0 80 T00 120 T40 160 180 00
chi2= 5.7 p1=0.9966 +- 0.0001 ( 0.0001%)
T2-L6-X5-S0-xR1yR2P |
1000 =
- 350
800 [ 300
E 250
600 [—
E 200
400 [— 150
E 100
200 [~
C 50
oL ! I I I ) I ) o
700 700 500 00 000 200 T400
chi2= 2.9 p1=0.9812 +- 0.0003 ( 0.0003%)
T2-L6-X5-S0-xR2yR3P |
7000
35
6000
30
5000 s
4000 20

3000

2000

1000

0
0

chi2=

1.5 p1=0.9964 +- 0.0004 ( 0.0004%)

hx616 T2-L6-X5-S0-R1 hx617
Entries 88551 Entries 139152
Mean 24.92 Mean 217.7
RMS 24.08 10° RMS 329.3
103
10°
PR [ TR TR S [T SR TR W NN ST S TR N1 P I T T PR
0 200 400 600 800 000 1200 lAOOMeV
hx618 T2-L6-X5-S0-R3 hx619
Entries 63589 Entries 80933
Mean 415.1 10° I Mean 1236
RMS 811.2 i RMS 2647

T2-L6-X5-S0-RO/R1 ] hxr617
Entries 31477
18000 F— Mgan 0.9907
16000 E— RMS 0.004441
E X3} ndf 1.477e-06 /0
14000 £~ C| 1.825e+04 + 135
12000 F— an 0.9913 + 0.0000
E S 0.003957 + 0.000021
10000 F—
8000
6000 f—
4000
2000 F~
E 1 1 1 1
. 0. . 0.9 1 TT 1.7
chi2= inf p1=0.9913 +- 0.0000 ( 0.00%)
T2-L6-X5-S0-R1/R2 ] hxr618
= Entries 14012
1800 = ean 0.9811
1600 — MS 0.0329
1400 E X\ / ndf 3.21/4
= Cl 1752+ 25.8
1200 mgan 0.979+ 0.000
E si 0.01451+ 0.00029
1000 :_
800 f_
600 f—
400 :_
200 F_
E I I 1
i 0.8 0.9 1 11 1.2
chi2= 0.8 p1=0.9790 +- 0.0002 ( 0.02%)
T2-L6-X5-S0-R2/R3 ] hxr619
— Entries 1012
E M@an 0.9921
700 -~ RES 0.003056
s E x4 ndf 2.949e-11/0
== C 810.4+ 30.6
s00 Han 0.992+ 0.000
E SI 0.002883 + 0.000062
400 -
300 £
200 -
100 F-
oF

chi2= inf p1= 0.9920 +-

0.0001 ( 0.01%)




